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310312314316318320322324326328 20:02    expT = 30 s   Kp=nan    moon=0.87
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1800 20:01    expT = 30 s   Kp=nan    moon=0.87
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320 20:13    expT = 30 s   Kp=nan    moon=0.87
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1800 20:12    expT = 30 s   Kp=nan    moon=0.87
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320 20:24    expT = 32 s   Kp=nan    moon=0.87
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1800 20:23    expT = 30 s   Kp=nan    moon=0.87
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302304306308310312314316318320 20:36    expT = 35 s   Kp=nan    moon=0.87
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1800 20:35    expT = 30 s   Kp=nan    moon=0.87
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304306308310312314316318320322 20:48    expT = 41 s   Kp=nan    moon=0.87
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1800 20:47    expT = 30 s   Kp=nan    moon=0.87
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320 21:00    expT = 46 s   Kp=nan    moon=0.87
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1800 20:59    expT = 30 s   Kp=nan    moon=0.87
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318 21:14    expT = 48 s   Kp=nan    moon=0.87
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1800 21:13    expT = 30 s   Kp=nan    moon=0.87
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322 21:27    expT = 60 s   Kp=nan    moon=0.87
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1800 21:26    expT = 30 s   Kp=nan    moon=0.87
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320 21:42    expT = 66 s   Kp=nan    moon=0.87
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1800 21:41    expT = 30 s   Kp=nan    moon=0.87
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308
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314
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320
322 21:58    expT = 85 s   Kp=nan    moon=0.87
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1800 21:57    expT = 30 s   Kp=nan    moon=0.87
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332 22:16    expT = 117 s   Kp=nan    moon=0.87
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1800 22:15    expT = 30 s   Kp=nan    moon=0.87
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342344346348350352354356358360 22:39    expT = 240 s   Kp=nan    moon=0.87
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1800 22:38    expT = 30 s   Kp=nan    moon=0.87
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385 23:10    expT = 317 s   Kp=nan    moon=0.86
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1800 23:09    expT = 30 s   Kp=nan    moon=0.86
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405 23:49    expT = 423 s   Kp=nan    moon=0.86
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1800 23:48    expT = 30 s   Kp=nan    moon=0.86
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425 00:27    expT = 480 s   Kp=nan    moon=0.86
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1800 00:26    expT = 30 s   Kp=nan    moon=0.86
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1800 01:02    expT = 30 s   Kp=nan    moon=0.86
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425 01:37    expT = 373 s   Kp=nan    moon=0.86
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1800 01:36    expT = 30 s   Kp=nan    moon=0.86
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1800 02:03    expT = 30 s   Kp=nan    moon=0.86
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375 02:24    expT = 165 s   Kp=nan    moon=0.85
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1800 02:23    expT = 30 s   Kp=nan    moon=0.85
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355 02:41    expT = 105 s   Kp=nan    moon=0.85
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1800 02:40    expT = 30 s   Kp=nan    moon=0.85
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350 02:55    expT = 86 s   Kp=nan    moon=0.85
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1800 02:54    expT = 30 s   Kp=nan    moon=0.85
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345 03:08    expT = 82 s   Kp=nan    moon=0.85
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1800 03:07    expT = 30 s   Kp=nan    moon=0.85
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345 03:21    expT = 76 s   Kp=nan    moon=0.85
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1800 03:20    expT = 30 s   Kp=nan    moon=0.85
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345 03:34    expT = 73 s   Kp=nan    moon=0.85
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1800 03:33    expT = 30 s   Kp=nan    moon=0.85
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340
345 03:47    expT = 78 s   Kp=nan    moon=0.85

0 100 200 300 400 500
400
600
800

1000
1200
1400
1600
1800 03:46    expT = 30 s   Kp=nan    moon=0.85
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03:59    expT = 480 s   Kp=nan    moon=0.85
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1800 03:59    expT = 30 s   Kp=nan    moon=0.85
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332334336338340342344346348350 04:20    expT = 114 s   Kp=nan    moon=0.85
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1800 04:19    expT = 30 s   Kp=nan    moon=0.85
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342344346348350352354356358360 04:37    expT = 144 s   Kp=nan    moon=0.85
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1800 04:36    expT = 30 s   Kp=nan    moon=0.85
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405 04:53    expT = 140 s   Kp=nan    moon=0.85
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1800 04:52    expT = 30 s   Kp=nan    moon=0.85


